


Pm : Measurable load

Pml : Measurable limit load

M.P. : Measurement Point
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D : Ultimate load (P )u

C : Yield load (P )y

A : Measurable load (P )m

B : Measurable limit load (P )ml



Required tensile strength (Pu)

Assume the tensile member
Material
Cross-sectional area

Calculate the design strength ( Rn)min

Yielding in the gross section
Fracture in the net section

Select the turn-buckle for 
measuring tensile force

Limit state load
(1.2 DL + 1.6 LL)
Service load
(1.0 DL + 1.0 LL)
Measurable load
(1.0 DL + 0.25 LL)

Pu = Rn

Fracture load in tensile member

Fracture load in turn-buckle

Tensile member and turn-buckle are designed

Yes

No

No

Yes
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of a 300kN turn-buckle = 638kN
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